Free fall / Gravity

“G” – also known as the acceleration due to the gravity of the Earth is 9.8 m/s2  (disregarding friction). 

The velocity of a falling object can be found by using :



V = G x t




G = 9.8 m/s2 
Since acceleration and velocity are directly related and velocity depends on the distance and time, the distance of a falling object can be found by using the following equation:




D = ½ G x t2 
Newton’s 3rd  Law of  Motion: Every force has an equal force in quantity and opposite in direction.



Example: billiards – cue ball hits the eight ball and the eight ball travels at approximately the same speed that the cue ball was hit at. 
